EARAROBEEIERT — 2 N— IBISH —F

20165F9A 308 (&) 7HEIAMIESH

(10R EEC I

‘ (] 8 ‘ (EmmEl  — | 4 (@) 16000 B

[A~&£] 1 7% 2,000,000  ~ 23 :600,000 37 :400,000 "

4 7 240,000 B 5 3& : 160,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN P B FI 2 142, -10-8~ . — NZARE (GFFN)
2l 7ute gz 3 DEAIL 1(4_2)8 10-10-8-9 | 38.8 4 (4+514) ;%\HH@%&
L:vA7% B3I/ 44U gilll IE%E
0 = AHIES 142, —-9-9- . = JNBE— (#318)
5 6l/s—7x7rFa 4 3 Fig 1(14/22)9 8-9-9-7 |38.8 2 (4+753) L
L:ZFAT=IK B:TS54 L N— BRT7— L
RSN N FHfE— : 00— — gy GeaFn)
3lgliol 7o ar5— i 5 o (11413/2% 2-2-2-2 | 40.1 7 :?:)) i
R:HI5T7LIF b B:TIu Fvy b BEE &
i 5 = 4 7 | HIBEXS 1:43.5 4-4-4-3 | 40.1| — 1 468 | HHEE (fafE)
4189 JIV—E—XTF 56.0 (11/2) 1) (E])EJ Pl\Tﬁﬁﬁ
R:THINEry b BiR—F 4 —2AXH it s
IR S t> 5 | WEHEE 1:43.8 5-6-5-4 | 40.2 | — 6 480 | REREAR (ARAE)
EH 4 AZ/Nvy R - 56.0 (11/2) (+5) (%) |/‘77Z,_l
LRI —b—A— B:x5U> BEZ &Y K
N BB 144, —7-6- . — NIARE (GFFD)
6177 )= > # 5 54.0 ! (424) 2 [ b s :Tg) /EﬁEEEﬁﬁ?
L:7A7% B:YNITURL IS
R BT . A — FEE—5% Gaf)
M - BESIC TS # o3 | BT G| TR T =
R:TTYIEAK BiavIUT HE BT
=0 o4 | AR 1:44.6 3-3-3-5 |41.3| — 8 501 |EEEEZ (#848)
8 2| 7TV —0O 56.0 (2 E) (-1) G
AR w4 =T BiHUF LT o K&
e 44 | AlBEZ 1:45.5 1=1-1-1 | 42.9| — 5 524 | {EBERAK (HAHS)
ol1l1|7F+¥ 74— 5.0 @ .
L:g4¥Tv b BN T—q2F 43 N T -5
= . 4 o4 | WKBRE 1:48.4 9-8-10-10 | 43.9 | — 10 | 495 |FURA (A
10/ 515 ttq4a1z=a3-> 56.0 (214) (-14) Efnt
L:7A7% B:I7rA 4071 WSS
® 1—F—@EBIERL
13—7+— 1,10,2,9,4,3,7,6,5,8
20—F— 1,10,2,9,3,4,7,5,6,8
Ja=5= 1,10,2,9,4,(3,7),8,6,5
40—+ — 1,10,9,4,2,7,6,3,8,5
[ N5
B 8 940H 714K 6-8 660 e E 6-7 1,220 JEE 6-8-10 15,850
B B 8 210 8-10 1,840H e B 7-6 2,530M JEE 8-6-10 68,530
6 200H 6-10 2,270 B & 6-8 2,940M
10 550 B H 8-6 6,430/

ABICOVWTRDTEEERROODE. TR LIV,




